

## A NEW EXTENSION OF CARLSON'S INEQUALITY

MIN-JIE LUO AND RAVINDER KRISHNA RAINA

(Communicated by L. E. Persson)

*Abstract.* A new extension of Carlson's inequality is obtained by using the Euler-Maclaurin summation formula and an extended Beta function introduced recently in [Appl. Math. Comput. 248 (2014) 631–651]. The integral analogue of this inequality is also presented.

### 1. Introduction

Let  $\{a_n\}_{n=1}^{\infty}$  be a sequence of nonnegative numbers and  $f(x)$  denote a Lebesgue measurable nonnegative function on  $[0, \infty)$ , then Carlson's inequalities are given by

$$\left(\sum_{n=1}^{\infty} a_n\right)^4 \leq \pi^2 \left(\sum_{n=1}^{\infty} a_n^2\right) \left(\sum_{n=1}^{\infty} n^2 a_n^2\right) \quad (1)$$

and

$$\left(\int_0^{\infty} f(x) dx\right)^4 \leq \pi^2 \left(\int_0^{\infty} f^2(x) dx\right) \left(\int_0^{\infty} x^2 f^2(x) dx\right), \quad (2)$$

where  $\pi^2$  is the best possible. For more details concerning these inequalities and their variants and extensions, we refer to [2], [3], [4] and [6].

In 2002, Kuang and Debnath [5] proved some extensions of Carlson's inequalities by using a fairly instructive method based on the Euler-Maclaurin summation formula and Beta function. Motivated by this work, we establish in this paper some new extensions of Carlson's inequalities. In order to achieve our aim, we first need the following extension of the Beta function.

The familiar confluent hypergeometric function is defined by (see [9, p. 36, Eq. (3)])

$${}_1F_1(a; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n z^n}{(c)_n n!} \quad (c \notin \mathbb{Z}_0^- := \{0, -1, -2, \dots\}; |z| < \infty), \quad (3)$$

where  $(a)_n$  denotes the familiar Pochhammer symbol defined (for  $a \in \mathbb{C}$ ) by

$$(a)_n := \frac{\Gamma(a+n)}{\Gamma(a)} = \begin{cases} 1 & \text{if } n = 0 \\ a(a+1)\cdots(a+n-1) & \text{if } n \in \mathbb{N} := \{1, 2, \dots\}. \end{cases}$$

*Mathematics subject classification* (2010): 26D15, 33C15.

*Keywords and phrases:* Carlson's inequality, Euler-Maclaurin summation formula, extended Beta function.

For  $\Re(c) > \Re(a) > 0$ , the confluent hypergeometric function (3) has the Euler type integral representation given by (see [9, p. 37, Eq. (6)])

$${}_1F_1(a; c; z) = \frac{\Gamma(c)}{\Gamma(a)\Gamma(c-a)} \int_0^1 e^{uz} u^{a-1} (1-u)^{c-a-1} du. \tag{4}$$

By applying the asymptotic properties of the confluent hypergeometric function, Luo *et al.* [7] introduced a new extension of the Beta function. Here, for the purpose of our paper, we mention its special case as follows:

DEFINITION 1. The extended Beta function  $\mathcal{B}_{b;\rho,\lambda}^{(a,c)}(x,y)$  with  $b > 0$  is defined by

$$\mathcal{B}_{b;\rho,\lambda}^{(a,c)}(x,y) = \int_0^1 t^{x-1} (1-t)^{y-1} {}_1F_1\left(a; c; -\frac{b}{t^\rho(1-t)^\lambda}\right) dt, \tag{5}$$

where  $\min\{\rho, \lambda\} \geq 0$ ,  $\min\{a, c\} > 0$ ,  $x > -\rho a$  and  $y > -\lambda a$ . When  $b = 0$ , (5) reduces to the ordinary Beta function  $B(x,y)$  ( $\min\{x,y\} > 0$ ).

The extended Beta function defined by (5) shares many properties of the ordinary Beta function and has been proven to be very useful in giving some new extensions of the generalized hypergeometric functions. By using (5), we establish the following Carlson type inequality.

THEOREM 1. Let  $S_\alpha = \sum_{n=1}^\infty n^\alpha a_n^p$ ,  $S_\beta = \sum_{n=1}^\infty n^\beta a_n^p$ ,  $c \geq a > 0$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ ,  $0 < \beta < p - 1 < \alpha$  and let

$$\lambda_\alpha = \frac{p - \alpha q}{p(\alpha - \beta)}, \quad \lambda_\beta = \frac{p - \beta q}{p(\alpha - \beta)}. \tag{6}$$

Suppose that  $a_n \geq 0$ ,  $n = 1, 2, \dots$ , and  $0 < S_\alpha, S_\beta < \infty$  so that  $\lambda S_\beta > \rho S_\alpha$  ( $\rho, \lambda > 0$ ). Then, we have

$$\left(\sum_{n=1}^\infty a_n \mathcal{L}(n)\right)^p < 2 \mathcal{L}(1) S_\alpha S_\beta \left(\frac{1}{\alpha - \beta} \frac{S_\alpha^{\lambda_\alpha}}{S_\beta^{\lambda_\beta}} \mathcal{B}_{b;\rho,\lambda}^{(a,c)}(\lambda_\beta, -\lambda_\alpha) - \mathcal{E}_1\right)^{\frac{p}{q}}, \tag{7}$$

where  $\mathcal{L}(x)$  is given by

$$\mathcal{L}(x) := {}_1F_1\left(a; c; -\frac{b}{S_\beta^\rho S_\alpha^\lambda} \frac{(S_\beta x^\alpha + S_\alpha x^\beta)^{\rho+\lambda}}{x^{\alpha\rho+\beta\lambda}}\right) \tag{8}$$

and

$$\mathcal{E}_1 := \int_0^1 \frac{\mathcal{L}(x)}{(S_\alpha x^\beta + S_\beta x^\alpha)^{\frac{q}{p}}} dx - {}_1F_1\left(a; c; -\frac{b}{S_\beta^\rho S_\alpha^\lambda} (S_\beta + S_\alpha)^{\rho+\lambda}\right) (S_\alpha + S_\beta)^{-\frac{q}{p}}$$

is finite and  $\mathcal{B}_{b;\rho,\lambda}^{(a,c)}(x,y)$  is the extended Beta function given by (5).

REMARK 1. By setting  $b = 0$ , the inequality in (7) corresponds to the one given by Kuang and Debnath in [5, p. 396, Theorem 1]. If we specialize the sequence  $\{a_n\}_{n=1}^\infty$  by putting  $a_n = n^{-\frac{1}{p}(\alpha+\beta+1)}$  ( $n \geq 1$ ), then we note that

$$S_\alpha = \sum_{n=1}^\infty n^\alpha n^{-\alpha-\beta-1} = \sum_{n=1}^\infty \frac{1}{n^{\beta+1}} = \zeta(\beta + 1)$$

and

$$S_\beta = \sum_{n=1}^\infty n^\beta n^{-\alpha-\beta-1} = \sum_{n=1}^\infty \frac{1}{n^{\alpha+1}} = \zeta(\alpha + 1),$$

where  $\zeta(s)$  is the Riemann Zeta function (see [8, p. 164]). Upon replacing  $S_\alpha$  and  $S_\beta$  with  $\zeta(\beta + 1)$  and  $\zeta(\alpha + 1)$ , respectively, the inequality (7) can be expressed as

$$\left( \sum_{n=1}^\infty \frac{\mathcal{L}(n)}{n^{\frac{1}{p}(\alpha+\beta+1)}} \right)^p < 2\mathcal{L}(1)\zeta(\alpha + 1)\zeta(\beta + 1) \times \left( \frac{1}{\alpha - \beta} \frac{\zeta^{\lambda_\alpha}(\beta + 1)}{\zeta^{\lambda_\beta}(\alpha + 1)} \mathcal{B}_{b;\rho,\lambda}^{(a,c)}(\lambda_\beta, -\lambda_\alpha) - \mathcal{C}_1 \right)^{\frac{p}{q}}.$$

The following result is the continuous version of the inequality (7) in which above notations and statements are used.

THEOREM 2. Let  $f(x) \geq 0$  and assume that

$$S_\alpha = \int_\varepsilon^\infty x^\alpha f^p(x) dx \quad \text{and} \quad S_\beta = \int_\varepsilon^\infty x^\beta f^p(x) dx$$

exist. Moreover, let  $\frac{1}{p} + \frac{1}{q} = 1$ ,  $c \geq a > 0$ ,  $0 < \beta < p - 1 < \alpha$  and  $\varepsilon \geq 1$ .

If  $0 < S_\alpha, S_\beta < \infty$  with  $\lambda S_\beta > \rho S_\alpha$  ( $\rho, \lambda > 0$ ), then  $f \in L[\varepsilon, \infty)$  and

$$\left( \int_\varepsilon^\infty f(x) \mathcal{L}(x) dx \right)^p < 2\mathcal{L}(1)S_\alpha S_\beta \left( \mathcal{B}_{b;\rho,\lambda}^{(a,c)}(\lambda_\beta, -\lambda_\alpha) - \mathcal{C}_2 \right)^{\frac{p}{q}}, \tag{9}$$

where  $\lambda_\alpha$  and  $\lambda_\beta$  are defined by (6),  $\mathcal{L}(x)$  is given by (8) and

$$\mathcal{C}_2 := \int_0^\varepsilon \frac{\mathcal{L}(x)}{(S_\alpha x^\beta + S_\beta x^\alpha)^{\frac{q}{p}}} dx > 0. \tag{10}$$

REMARK 2. If we put  $b = 0$  in (9), then the requirement  $\varepsilon \geq 1$  can be replaced by  $\varepsilon > 0$ , and the corresponding inequality reduces to the result of Kuang and Debnath [5, p. 397, Theorem 2].

## 2. Some prerequisite lemmas

Before we prove our main results (Theorems 1 and 2), we in this section prove a few prerequisite results.

LEMMA 1. Let  $h_\eta(x)$  be defined by

$$h_\eta(x) = \left( S_\beta + \frac{S_\alpha}{x^\eta} \right)^\rho (S_\alpha + S_\beta x^\eta)^\lambda, \quad x \in (0, \infty) \quad (11)$$

with

$$h_\eta(1) = (S_\alpha + S_\beta)^{\rho+\lambda}, \quad (12)$$

where  $\eta, \lambda, \rho > 0$ ,  $0 < S_\alpha, S_\beta < \infty$  and  $\lambda S_\beta > \rho S_\alpha$ . Then,

- (i)  $h_\eta(x)$  is positive on  $(0, \infty)$ ;
- (ii)  $h_\eta(x)$  is strictly increasing on  $[1, \infty)$ .

*Proof.* By differentiating (11) with respect to  $x$ , we get

$$\begin{aligned} h'_\eta(x) &= -\rho\eta \left( S_\beta + \frac{S_\alpha}{x^\eta} \right)^{\rho-1} (S_\alpha + S_\beta x^\eta)^\lambda \frac{S_\alpha}{x^{\eta+1}} \\ &\quad + \lambda\eta \left( S_\beta + \frac{S_\alpha}{x^\eta} \right)^\rho (S_\alpha + S_\beta x^\eta)^{\lambda-1} S_\beta x^{\eta-1} \\ &= \frac{\eta}{x} \left( S_\beta + \frac{S_\alpha}{x^\eta} \right)^\rho (S_\alpha + S_\beta x^\eta)^{\lambda-1} \\ &\quad \times \left[ -\rho \left( S_\beta + \frac{S_\alpha}{x^\eta} \right)^{-1} (S_\alpha + S_\beta x^\eta) \frac{S_\alpha}{x^\eta} + \lambda S_\beta x^\eta \right] \\ &= \frac{\eta}{x} \left( S_\beta + \frac{S_\alpha}{x^\eta} \right)^\rho (S_\alpha + S_\beta x^\eta)^{\lambda-1} H_\eta(x), \end{aligned} \quad (13)$$

where  $H_\eta(x) := \lambda S_\beta x^\eta - \rho S_\alpha$ . Since  $\lambda S_\beta > \rho S_\alpha$ , it follows that

$$H_\eta(x) > \lambda S_\beta (x^\eta - 1) \geq 0 \quad x \in [1, \infty).$$

Thus, we have

$$h'_\eta(x) > 0 \quad x \in [1, \infty),$$

and the function  $h_\eta(x)$  is strictly increasing on  $[1, \infty)$  which proves the positivity of  $h_\eta(x)$ .  $\square$

LEMMA 2. Let  $l_\eta(x)$  be defined by

$$l_\eta(x) := {}_1F_1 \left( a; c; -\frac{b}{S_\beta^\rho S_\alpha^\lambda} h_\eta(x) \right), \quad (14)$$

where  $c \geq a > 0$ ,  $\eta > 0$ ,  $b \geq 0$ ,  $0 < S_\alpha, S_\beta < \infty$  and  $\lambda S_\beta > \rho S_\alpha$  ( $\rho, \lambda > 0$ ). Then, we have

- (i)  $l_\eta(x)$  is positive on  $(0, \infty)$ ;
- (ii)  $l_\eta(x)$  is strictly decreasing on  $x \in [1, \infty)$ .

*Proof.* By using the integral representation (4), we can express  $l_\eta(x)$  as

$$l_\eta(x) = \frac{\Gamma(c)}{\Gamma(a)\Gamma(c-a)} \int_0^1 e^{-\frac{b}{S_\beta^\rho S_\alpha^\lambda} h_\eta(x)} t^{a-1} (1-t)^{c-a-1} dt \quad (c > a > 0). \tag{15}$$

We note that the integrand of (15) is positive on  $(0, 1)$  and the factor  $\Gamma(c)/\Gamma(a)\Gamma(c-a)$  is also positive for  $c > a > 0$ . Hence,  $l_\eta(x) > 0$  for all  $x \in (0, \infty)$ .

Since  $e^{-x}$  is a strictly decreasing function on  $\mathbb{R}$  and  $h_\eta(x)$  has been proved in Lemma 1 to be a strictly increasing function on  $[1, \infty)$ , we have then

$$e^{-\frac{b}{S_\beta^\rho S_\alpha^\lambda} h_\eta(x_1)} > e^{-\frac{b}{S_\beta^\rho S_\alpha^\lambda} h_\eta(x_2)}, \quad 1 \leq x_1 < x_2 < \infty.$$

Thus, we obtain

$$l_\eta(x_1) > l_\eta(x_2), \quad 1 \leq x_1 < x_2 < \infty,$$

which means that the function  $l_\eta(x)$  is strictly decreasing on  $x \in [1, \infty)$ .

For  $a = c$ , the confluent hypergeometric functions in (14) reduces to the exponential function and the results follow immediately with similar arguments as above.  $\square$

LEMMA 3. Let  $0 < S_\alpha, S_\beta < \infty$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ ,  $0 < \beta < p - 1 < \alpha$ , then

$$\int_0^\infty \frac{l_{\alpha-\beta}(x)}{(S_\alpha x^\beta + S_\beta x^\alpha)^{\frac{q}{p}}} dx = \frac{1}{\alpha - \beta} \frac{S_\alpha^{\lambda_\alpha}}{S_\beta^{\lambda_\beta}} \mathcal{B}_{b;\rho,\lambda}^{(a,c)}(\lambda_\beta, -\lambda_\alpha), \tag{16}$$

where  $\lambda_\alpha$  and  $\lambda_\beta$  are given by (6), and  $\mathcal{B}_{b;\rho,\lambda}^{(a,c)}(x, y)$  is the extended Beta function defined by (5).

*Proof.* In view of Lemmas 1 and 2, we need to prove that

$$\begin{aligned} \int_0^\infty \frac{1}{(S_\alpha x^\beta + S_\beta x^\alpha)^{\frac{q}{p}}} {}_1F_1\left(a, c; -b \frac{(S_\beta x^\alpha + S_\alpha x^\beta)^{\rho+\lambda}}{S_\beta^\rho S_\alpha^\lambda x^{\alpha\rho+\beta\lambda}}\right) dx \\ = \frac{1}{\alpha - \beta} \frac{S_\alpha^{\lambda_\alpha}}{S_\beta^{\lambda_\beta}} \mathcal{B}_{b;\rho,\lambda}^{(a,c)}(\lambda_\beta, -\lambda_\alpha). \end{aligned} \tag{17}$$

Let  $I$  denote the left-hand side of (17), then

$$\begin{aligned}
 I &= \frac{1}{S_\beta^{\frac{q}{p}}} \int_0^\infty \frac{x^{-\frac{q\beta}{p}}}{(S_\alpha/S_\beta + x^{\alpha-\beta})^{\frac{q}{p}}} {}_1F_1 \left( a, c; -b \left( \frac{S_\alpha}{S_\beta x^{\alpha-\beta}} \right)^p (S_\beta/S_\alpha x^{\alpha-\beta} + 1)^{\rho+\lambda} \right) dx \\
 &= \frac{1}{(\alpha-\beta) S_\beta^{\frac{q}{p}}} \int_0^\infty \frac{u^{-\frac{1}{\alpha-\beta} \frac{q\beta}{p} + \frac{1}{\alpha-\beta} - 1}}{(S_\alpha/S_\beta + u)^{\frac{q}{p}}} {}_1F_1 \left( a, c; -b \left( \frac{S_\alpha}{S_\beta u} \right)^p (S_\beta/S_\alpha u + 1)^{\rho+\lambda} \right) du \\
 &\quad \left( \text{by setting } x = u^{\frac{1}{\alpha-\beta}} \right) \\
 &= \frac{1}{(\alpha-\beta)} \frac{S_\alpha^{\lambda-\frac{q}{p}}}{S_\beta^{\lambda\beta}} \int_0^\infty \frac{v^{\lambda\beta-1}}{(1+v)^{\frac{q}{p}}} {}_1F_1 \left( a, c; -b \frac{(v+1)^{\rho+\lambda}}{v^\rho} \right) dv \quad \left( \text{by setting } u = \frac{S_\alpha}{S_\beta} v \right) \\
 &= \frac{1}{(\alpha-\beta)} \frac{S_\alpha^{\lambda\alpha}}{S_\beta^{\lambda\beta}} \int_0^\infty \frac{v^{\lambda\beta-1}}{(1+v)^{\frac{q}{p}}} {}_1F_1 \left( a, c; -b \frac{(v+1)^{\rho+\lambda}}{v^\rho} \right) dv. \tag{18}
 \end{aligned}$$

Finally, by setting  $v = \frac{t}{1-t}$  in (18), we get

$$\begin{aligned}
 I &= \frac{1}{(\alpha-\beta)} \frac{S_\alpha^{\lambda\alpha}}{S_\beta^{\lambda\beta}} \int_0^1 t^{\lambda\beta-1} (1-t)^{\frac{q}{p}-\lambda\beta-1} {}_1F_1 \left( a, c; -\frac{b}{t^\rho (1-t)^\lambda} \right) dt \\
 &= \frac{1}{(\alpha-\beta)} \frac{S_\alpha^{\lambda\alpha}}{S_\beta^{\lambda\beta}} \int_0^1 t^{\lambda\beta-1} (1-t)^{-\lambda\alpha-1} {}_1F_1 \left( a, c; -\frac{b}{t^\rho (1-t)^\lambda} \right) dt \\
 &= \frac{1}{(\alpha-\beta)} \frac{S_\alpha^{\lambda\alpha}}{S_\beta^{\lambda\beta}} \mathcal{B}_{b;\rho,\lambda}^{(a,c)} (\lambda_\beta, -\lambda_\alpha). \tag{19}
 \end{aligned}$$

This completes the proof.  $\square$

We also need the following Euler-Maclaurin summation formula.

LEMMA 4. ([1]) *If  $f$  is positive and strictly decreasing on  $[1, \infty)$ , then there is a positive constant  $C(f) < f(1)$  and a sequence  $\{E_f(n)\}$ , with  $0 < E_f(n) < f(n)$ , such that*

$$\sum_{k=1}^n f(k) = \int_1^n f(x) dx + C(f) + E_f(n), \quad n = 2, 3, \dots \tag{20}$$

Note that if  $f(n) \rightarrow 0$  as  $n \rightarrow +\infty$ , then  $E_f(n) \rightarrow 0$ .

### 3. Proofs of Theorems 1 and 2

*Proof of Theorem 1.* Let  $g$  be defined by

$$g(x) := \frac{l_{\alpha-\beta}(x)}{(S_\alpha x^\beta + S_\beta x^\alpha)^{\frac{q}{p}}}, \tag{21}$$

where  $l_{\alpha-\beta}(x)$  is defined by (14). In view of Lemma 2, we easily observe that  $g(x)$  is positive on  $(0, \infty)$  and that  $g(x)$  is strictly decreasing on  $[1, \infty)$  and also  $\lim_{x \rightarrow \infty} g(x) = 0$ .

By applying the Euler-Maclaurin summation formula (20), we have

$$\sum_{n=1}^{\infty} g(n) < \int_1^{\infty} g(x) dx + g(1) = \int_0^{\infty} g(x) dx - \mathcal{E}_1, \tag{22}$$

where

$$\mathcal{E}_1 = \int_0^1 g(x) dx - g(1) = \int_0^1 g(x) dx - {}_1F_1\left(a; c; -\frac{b}{S_\beta^\lambda S_\alpha^\lambda} (S_\beta + S_\alpha)^{\rho+\lambda}\right) (S_\alpha + S_\beta)^{-\frac{a}{p}}.$$

Using (16) and (21), we have

$$\int_0^{\infty} g(x) dx = \frac{1}{(\alpha - \beta)} \frac{S_\alpha^{\lambda\alpha}}{S_\beta^{\lambda\beta}} \mathcal{B}_{b;p,\lambda}^{(a,c)}(\lambda_\beta, -\lambda_\alpha). \tag{23}$$

Now, by using the Hölder inequality, we find that

$$\begin{aligned} \sum_{n=1}^{\infty} a_n l_{\alpha-\beta}(n) &= \sum_{n=1}^{\infty} a_n (S_\beta n^\alpha + S_\alpha n^\beta)^{\frac{1}{p}} l_{\alpha-\beta}^{\frac{1}{p}}(n) (S_\beta n^\alpha + S_\alpha n^\beta)^{-\frac{1}{p}} l_{\alpha-\beta}^{\frac{1}{q}}(n) \\ &\leq \left[ \sum_{n=1}^{\infty} a_n^p (S_\beta n^\alpha + S_\alpha n^\beta) l_{\alpha-\beta}(n) \right]^{\frac{1}{p}} \left[ \sum_{n=1}^{\infty} (S_\beta n^\alpha + S_\alpha n^\beta)^{-\frac{q}{p}} l_{\alpha-\beta}(n) \right] \\ &\leq l_{\alpha-\beta}^{\frac{1}{p}}(1) \left[ S_\beta \sum_{n=1}^{\infty} n^\alpha a_n^p + S_\alpha \sum_{n=1}^{\infty} n^\beta a_n^p \right]^{\frac{1}{p}} \left( \sum_{n=1}^{\infty} g(n) \right)^{\frac{1}{q}} \\ &\leq l_{\alpha-\beta}^{\frac{1}{p}}(1) (2S_\alpha S_\beta)^{\frac{1}{p}} \left( \sum_{n=1}^{\infty} g(n) \right)^{\frac{1}{q}}. \end{aligned} \tag{24}$$

Hence from (22), (23) and (24), we obtain that

$$\begin{aligned} \left( \sum_{n=1}^{\infty} a_n l_{\alpha-\beta}(n) \right)^p &\leq 2l_{\alpha-\beta}(1) S_\alpha S_\beta \left( \sum_{n=1}^{\infty} g(n) \right)^{\frac{p}{q}} \\ &< 2l_{\alpha-\beta}(1) S_\alpha S_\beta \left( \frac{1}{\alpha - \beta} \frac{S_\alpha^{\lambda\alpha}}{S_\beta^{\lambda\beta}} \mathcal{B}_{b;p,\lambda}^{(a,c)}(\lambda_\beta, -\lambda_\alpha) - \mathcal{E}_1 \right)^{\frac{p}{q}}, \end{aligned} \tag{25}$$

which upon using the notation  $\mathcal{L}(x) \equiv l_{\alpha-\beta}(x)$  gives the desired result (7).  $\square$

*Proof of Theorem 2.* Making use of the Hölder's inequality, we have

$$\begin{aligned}
 & \int_{\varepsilon}^{\infty} f(x) l_{\alpha-\beta}(x) \, dx \\
 &= \int_{\varepsilon}^{\infty} f(x)^{\frac{1}{p}} \left( S_{\beta} x^{\alpha} + S_{\alpha} x^{\beta} \right)^{\frac{1}{p}} l_{\alpha-\beta}^{\frac{1}{p}}(x) \left( S_{\beta} x^{\alpha} + S_{\alpha} x^{\beta} \right)^{-\frac{1}{p}} l_{\alpha-\beta}^{\frac{1}{q}}(x) \, dx \\
 &\leq \left[ \int_{\varepsilon}^{\infty} f^p(x) \left( S_{\beta} x^{\alpha} + S_{\alpha} x^{\beta} \right) l_{\alpha-\beta}(x) \, dx \right]^{\frac{1}{p}} \left[ \int_{\varepsilon}^{\infty} \left( S_{\beta} x^{\alpha} + S_{\alpha} x^{\beta} \right)^{-\frac{q}{p}} l_{\alpha-\beta}(x) \, dx \right]^{\frac{1}{q}} \\
 &\leq l_{\alpha-\beta}^{\frac{1}{p}}(\varepsilon) (2S_{\alpha} S_{\beta})^{\frac{1}{p}} \left[ \mathcal{B}_{b;\rho,\lambda}^{(a,c)}(\lambda_{\beta}, -\lambda_{\alpha}) - \int_0^{\varepsilon} \frac{l_{\alpha-\beta}(x)}{\left( S_{\beta} x^{\alpha} + S_{\alpha} x^{\beta} \right)^{\frac{q}{p}}} \, dx \right]^{\frac{1}{q}}. \quad (26)
 \end{aligned}$$

The desired result (9) follows now upon using (10) and the notation that  $\mathcal{L}(x) \equiv l_{\alpha-\beta}(x)$ .  $\square$

*Acknowledgement.* The authors are thankful to the referee for valuable suggestions.

#### REFERENCES

- [1] T. M. APOSTOL, *An elementary view of Euler's summation formula*, Amer. Math. Monthly **106** (1999), 409–418.
- [2] S. BARZA, J. PEČARIĆ, L.-E. PERSSON, *Carlson type inequalities*, J. Inequal. Appl. **2** (1998), 121–135.
- [3] F. CARLSON, *Une inégalité*, Ark. Mat. Astr. Fysik, 25B (1934), 1–5.
- [4] G. H. HARDY, *A note on two inequalities*, J. London Math. Soc., **11** (1936), 167–170.
- [5] K. JICHANG, L. DEBNATH, *An extension of Carlson's inequality*, J. Math. Anal. Appl. **267** (1) (2002), 395–399.
- [6] L. LARSSON, L. MALIGRANDA, J. PEČARIĆ, L.-E. PERSSON, *Multiplicative Inequalities of Carlson Type and Interpolation*, World Scientific, New Jersey, London, Singapore, Beijing, Shanghai, Hong Kong, Taipei, and Chennai, 2006.
- [7] MIN-JIE LUO, G. V. MILOVANOVIC, P. AGARWAL, *Some results on the extended beta and extended hypergeometric functions*, Appl. Math. Comput. **248** (2014), 631–651.
- [8] H. M. SRIVASTAVA, J. CHOI, *Zeta and q-Zeta Functions and Associated Series and Integrals*, Elsevier Science, Publishers, Amsterdam, London and New York, 2012.
- [9] H. M. SRIVASTAVA, H. L. MANOCHA, *A Treatise on Generating Functions*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane, and Toronto, 1984.

(Received January 9, 2015)

Min-Jie Luo  
 Department of Mathematics, East China Normal University  
 Shanghai 200241, People's Republic of China  
 e-mail: mathwinnie@live.com

Ravinder Krishna Raina  
 M. P. University of Agriculture and Technology  
 10/11, Ganpati Vihar, Opposite Sector 5  
 Udaipur-313002, Rajasthan, India  
 e-mail: rkrainna\_7@hotmail.com